[[normalized x? probability ]

0.04f--

Entries 312603 0.035f - - i
Mean 1.025 .
Std Dev. 003 _—
Entries

Mean . 0.025f -

" Lstd Dev

Entries
= | Mean 0.5259
Std Dev

0.02F- -+

0.015

Mean 0.5275

i

TR 1 AT e

e

6 8 10 12 14 16 18 20
2

X
orrgmm—mg'nm. ETTOT_TUU0EVT
_original_1000evt
_fitted4_T000evt
I—fit_cpeOK_1000evt
_fit_cpeOK_SORTRZ2 1000evt
fit_cpeOK"SORTRZ2_TESTOUTLIER_1000evt

n

3

< X2/ndf>
T

< op./p.> (%)

o
T
@

3 G0 72 3

n TP n (PCA to beamline)
A3 A
5 5
c c
%« 29 w
A\ A\
°
©
14

T

< op/p. > (%)




	Contents
	Page 1


